(GEJ

25752 base spar Bottenprofil
25392 Intermediate spars |  Standard profiler
25384 Coupling sleeves Skarvstycken
26179 PVC liners Innerprofil i PVC
22827 bearings @31 Lagringar @3 |
58249 drum unit Trumma
58250 RZ%?ESSLEP 2 revlinematare
weer | e |
22855 screw M14x40 Skruv M 14x40 :
22857 nut M14 Mutter M 14
22844 boltrope prefeeder | Segelinmatare
58248 halyard swivel Fallsvirvel
26321 top end stop Toppdel
25674 screw M5x12 ins-cx MSx12




